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MAC 2233 Exam 3 Part 1

You are not permitted to use a calculator for this portion of the exam.  When you have finished answering these questions, hand in this sheet to obtain the second portion of the exam.  You must provide complete answers to the questions.  Correct answers without supporting work will receive minimal credit.

1.  Using the graph on the right of a function f, identify any maximums or minimums of the function shown.  (Note:  Each value listed must be classified as a maximum or minimum)
2.  Using the graph on the right of the derivative of a function f, identify any maximums or minimums of the function f.  (Note:  Each value listed must be classified as a maximum or minimum)
3.  Find all x- and y-intercepts of the graph of 
[image: image1.wmf]x

x

x

f

6

2

)

(

3

-

=

.
4.  Find all relative extrema of the graph of 
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.  Classify each as a maximum or a minimum.
5.  Find all points of inflection of the graph of 
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6.  Using limits, describe the behavior of the graph of 
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7.  Sketch the graph of 
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Name_______________

MAC 2233 Exam 3 Part II

For this portion of the exam, you are permitted to use a graphing calculator.  You must answer each question completely.  Correct answers without supporting work will receive minimal credit.

1.  Find the absolute maximum and absolute minimum of 
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2.  The consumer demand curve for tissues is given by 
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 where p is the price per case of tissues and q is the demand in weekly sales.  If tissues cost $30 per case to produce, at what price should tissues be sold for the largest possible weekly profit?  What will that profit be?
3.  A packaging company is going to make open-topped boxes, with square bases, that hold 108 cubic centimeters.  What are the dimensions of the box that can be built with the least material?
4.  Find 
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5.  Find 
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6.  A fried chicken franchise finds that the demand equation for its new roast chicken product, “Roasted Rooster”, is given by 
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 where p is the price (in dollars) per quarter-chicken serving and q is the number of quarter chicken servings that can be sold per hour at this price.  Express q as a function of p and find the price elasticity of demand when the price is set at $4 per serving.  Interpret the result.
Use the following information to answer questions 6 & 7:  

You have been hired as a marketing consultant to Big Book Publishing, Inc., and you have3 been approached to determine the best selling price for the hit calculus text by Whiner and Istanbul entitled Fun with Derivatives.  You decide to make life easy and assume that the demand equation for Fun with Derivatives has the linear form 
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, where p is the price per book, q is the demand in annual sales, and m and  b are certain constants you’ll have to figure out.
6.  Your market studies reveal the following sales figures:  when the price is set at $50 per book, the sales amount to 10,000 per year; when the price is set at $80 per book, the sales drop to 1000 per year.  Use these data to calculate the demand equation.
7.  Now estimate the unit price that maximizes annual revenue using the elasticity equation and predict what Big Book Publishing, Inc.’s annual revenue will be at that price.
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